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2-1. TE5 8 2 - 7~ KRR
G=0A, b=0B, ¢=BC, <5IZBCHLEMOAICTALEEROREE B,CE LET.

) OB, B'C' #3 OA &R LHMAMNTND & X,
NS D B S 7 B
[d-b=0AxOB', ac=0AxBC, a(b+c¢)=0Ax0OC' |
L = A7 TOB+B'C'=0C' | =6,
@b +adc =0AXOB+0OAXB'C' = OA x (OB'+ B'C") = OAXOC' = G-(b + ¢)

] FRO = >0 TEOEATHERE] ofns, OAOC LELL A 7.

OA-b=10.00
OA-¢=6.00
OA-(b+c)=16.00




(i) OB,0C' 7% OA L[F UK, BC 728 OA &RfH AN TND & &
WO I E D D,
[db=0Ax0OB, aGc=0Ax(-BC), a(b+¢)=0Ax0C']
EZAMN TOB'-B'C=0C"] =2 b,
b +adc = OAXOB+OAx(—B'C') = OA x (OB'- B'C') = OAxOC' = G+(b + &)
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B Ao, TEOFBHER & TROFENER FTHM ek L 2R LET.

OA-b=1000
OA-c=-200

QA (b+¢)=800
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